	The shopkeeper has 27 red pens and 39 blue pens.  How many pens does he have altogether?
	One suitcase weighs 18kg, another suitcase weighs 14kg.  How much do they both weigh together?
	There were 33 adults and 25 children on the coach.  How many people were there on the coach?

	The coach travelled 124 miles in the morning and 56 miles in the afternoon.  How far did it travel during the day?
	A burger costs 65p and a drink costs 45p.  How much would a burger and a drink cost?
	There are 46 people on a bus.  18 people get on at the next stop.  How many people are now on the bus?

	There are 66 children in the infants and 54 children in the juniors.  How many children are there in the school?
	Tom bought a comic for £1.32 and a drink for 67p.  How much did he spend altogether?
	A notepad costs 97p.  A pen costs 30p more.  How much does the pen cost?

	Ben is 25 years old and his Dad is 26 years older.  How old is Ben’s dad?
	A bag of potatoes weighs 32kg and a bag of onions weighs 25kg.  What is the total weight?
	There are 26 apple trees and 36 pear trees in the orchard.  How many trees are there altogether?

	
	
	

	The shopkeeper has 127 red pens and 239 blue pens.  How many pens does he have altogether?
	There are 26 children in Yr3, 31 children in Y4, 28 children in Yr5 and 27 children in Yr6.  How many children are in KS2?
	The train travelled 229 miles in the morning and 137 miles in the afternoon.  How far did it travel during the day?

	Megan buys some jeans for £25.99 plus some shoes for £16.99.  How much does she spend?
	A burger costs £1.85 but a pizza costs £4.50 more.  How much does a pizza cost?
	The team scored 86 goals this season and 94 last season.  How many goals have they scored in the past two years?

	Ben is 13 years old.  His granddad is 89 years older.  How old is Ben’s granddad?
	Karl buys a car for £386.  He cleans and fixes it and sells it for a £135 profit.  How much does he sell the car for?
	I walk 1.5km to the shops and a further 300 metres to my friend’s house.  What is the total distance that I walk?


ADDITION WORD PROBLEMS

TOP – 2B – 3C

BOTTOM – 3B – 3A

